[(2AWP]LGFREMR 7N F17INITKE

=012 K& OUT IN 40X HDCP Fvhk
2 1 FF 40 *38 78 8.4 69.6
201 Hx E= 42 *48 90 20.4 69.6
347 FEE FXEB *41 40 81 10.8 70.2
AL T ATHE 43 *42 85 144 70.6
541 B&H 1EHE * 36 42 78 7.2 70.8
6fiz B F5ia *42 42 84 13.2 70.8
741 81l 7% *42 41 83 12.0 71.0
8 AMA #EZ *48 50 98 264 71.6
of XH &= * 40 39 79 7.2 71.8
101z #6iB & *42 41 83 10.8 72.2
1147 SH #— * 39 44 83 10.8 72.2
1247 #b B3 44 * 45 89 16.8 722
134 B 8% *41 41 82 9.6 724
1447 t&H L 40 *40 80 7.2 72.8
1547 5B 3EBE 39 *47 86 13.2 72.8
1661 HE =Xk * 39 53 92 19.2 72.8
1741 #2IR Bt 38 *46 84 10.8 73.2
18 #ER % 38 *46 84 10.8 73.2
1947 1EIR IXE] * 39 45 84 10.8 73.2
20f SR 58X * 46 44 90 16.8 73.2
2147 Al FZ 38 *45 83 9.6 734
2247 ¥R [EE) * 39 44 83 9.6 73.4
231 K% XHH *43 46 89 156 734
2447 i 18X * 45 44 89 156 734
2547 JIIH IEtE 44 * 51 95 21.6 734
2641 s Sk 40 *42 82 8.4 73.6
2717 WA F— 43 *45 88 144 73.6
281 I 81 *42 39 81 7.2 73.8
2917 BER R 40 * 46 86 12.0 74.0
301 &=k F 39 *47 86 12.0 74.0
3147 BilE tFie 40 *39 79 4.8 74.2
32/ =R FBX * 47 44 91 16.8 74.2
331 1Lk BUH *41 43 84 9.6 74.4
344 HF =15 40 *44 84 9.6 74.4
3547 Il B&K *43 47 90 156 74.4
36 HH L% * 44 46 90 156 74.4
374z #E) FIL * 46 50 9% 21.6 744
381 IR HETR 48 * 52 100 25.2 74.8
39M7 1B % 41 *40 81 6.0 75.0
4011 &R B2 * 46 41 87 12.0 75.0
4141 )| =t *43 44 87 12.0 75.0
4211 AR # * 44 43 87 12.0 75.0
4311 FER BEXR 43 *44 87 12.0 75.0
4441 A)I| B *42 38 80 48 75.2
4547 tElg E1X *42 44 86 10.8 75.2
4641 SeH %18 * 44 48 92 16.8 75.2
4741 BR #bsh *47 51 98 22.8 75.2
4811 BRI FEA 44 *41 85 9.6 754
4941 WA FME 46 * 45 91 156 754
501 #5K F53h * 49 48 97 216 754

517 FH XEZ * 50 47 97 216 754



5217 iXHE PEAR * 51 46 97 21.6 75.4

5317 FR {22 * 47 50 97 21.6 75.4
5447 B F= * 42 54 9% 20.4 75.6
5547 k1L ERY 41 *42 83 7.2 75.8
564 IS EX * 41 48 89 13.2 75.8
5747 B 44 * 44 88 12.0 76.0
58 B B * 42 46 88 12.0 76.0
5947 LLE EF 50 *44 94 18.0 76.0
60fi LA = 47 *47 94 18.0 76.0
6147 A D5 46 * 54 100 24.0 76.0
62 BAR —1E 43 * 38 81 4.8 76.2
631 J& A 41 * 46 87 10.8 76.2
64 AL EIR 50 *43 93 16.8 76.2
651 FH & 46 * 53 99 22.8 76.2
6647 B fi5 * 45 47 92 15.6 76.4
6747 LA KR * 51 47 98 21.6 76.4
68fL /N\EF ZZ3E 39 *40 79 2.4 76.6
691 R f2— 44  * 47 91 144 76.6
701 gk EBFCED * 45 52 97 20.4 76.6
714 7 7RI 42 *42 84 7.2 76.8
7241 AT B 42 * 46 88 10.8 77.2
7341 BA B5E * 53 53 106 28.8 77.2
7ML B8 BER 41 *52 93 15.6 77.4
7547 1A 2 52 *47 99 216 77.4
764 B R 42 * 44 86 8.4 77.6
7747 HEAR BR *43 49 92 144 77.6
78f1 JKIB ta 48 *50 98 204 77.6
7911 EEE = 51 *52 103 25.2 77.8
80fz BR & 48 * 48 96 18.0 78.0
81 ¥ BEF 49 *47 96 18.0 78.0
82fi E4 K FIL 45 *51 96 18.0 78.0
83 M FE 45 *47 92 13.2 78.8
8441 /ML F— * 40 45 85 6.0 79.0
85 F& & 46 * 45 91 12.0 79.0
86fi JBH &8 * 51 46 97 18.0 79.0
871 IR AE * 45 51 9% 16.8 79.2
88fiL MIfE &R * 48 48 9% 16.8 79.2
89 1Rk —EB * 51 51 102 22.8 79.2
o0fI FE E®= 44 * 51 95 15.6 794
914 =% == * 44 50 94 14.4 79.6
921 #AAK IEA * 46 54 100 20.4 79.6
93fiL AR RE] * 51 46 97 16.8 80.2
944 £l =a 54 *49 103 22.8 80.2
9541 AR 1 52 *49 101 20.4 80.6
o6fi BR i * 59 52 111 30.0 81.0
974 Pulsd F= 51 *59 110 28.8 81.2
984z AL EA * 49 48 97 15.6 81.4
99z A iz 45 * 56 101 19.2 81.8
1004z ALl B 61 *52 113 30.0 83.0
10147 R ER3h * 61 53 114 30.0 84.0
1024 R4 [7REA * 56 65 121 30.0 91.0
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